
STEERING & SUSPENSION PARTS

JAPANESE VEHICLES
KOREAN VEHICLES
AMERICAN AND EUROPEAN VEHICLES

NEW ITEM LIST
(NOVEMBER 2015)

NEO CTR CO., LTD.

VISIT CTR WEB CATALOGUE
www.neoctr.kr



BALL JOINT

TOYOTA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CBT-93 43330-09770 LOWER R/L AVENSIS ADT27#,ZRT27#,AZT270,ZRT272 08- 12PCS

CBT-94 43330-09130 LOWER R/L CORONA AT220, CT220, ST220 97-03 20PCS
AVENSIS AT22#, AZT220, CDT220, CT220, ST220, 97-03

ZZT22#
CBT-95 43330-59155 LOWER R/L ALPHARD/VELLFIRE/HV AGH3#, AYH30, GGH3# 15- 12PCS

NISSAN
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CBN-78 LOWER R/L MICRA K12E 02- 50PCS
MICRA C+C CK12E 05-
NOTE UK MAKE E11E 06-13

FOR 54500-BC42A/54501-BC42A

GM KOREA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CBKD-16 LOWER SPARK M400 15- 50PCS
For  ARM
95368367(L) / 9536836(R)

GM
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CBG-66 22845489 REAR CHEVROLET CAMARO 12- 60PCS
For LINK ROD (2PCS/BOX)
22845487

FORD
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CBF-26 2L1Z-3050-A LOWER FORD F150 (NEW STYLE) 04-08 40PCS
LINCOLN MARK LT 06-08

NEW ITEMS



CONTROL ARM

TOYOTA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CQT-30R 48068-29095 LOWER R CRESSIDA YX70, RX7#, GX71, MX7#, LX7# 84-88 4PCS
MX7# 87-88

CRESSIDA WAGON GX71, MX75, YX72, RX7# 88-83
MARK 2 GX7#, LX7#, MX71, SX70, YX7# 84-88
CHASER GX71, LX70, MX71, SX70, YX7# 84-88
CRESTA GX71, LX70, MX71, SX70, YX7# 84-88
MARK 2 V, WG GX70, LX76, YX7# 88-97

CQT-30L 48069-29095 LOWER L CRESSIDA YX70, RX7#, GX71, MX7#, LX7# 84-88 4PCS
MX7# 87-88

CRESSIDA WAGON GX71, MX75, YX72, RX7# 88-83
MARK 2 GX7#, LX7#, MX71, SX70, YX7# 84-88
CHASER GX71, LX70, MX71, SX70, YX7# 84-88
CRESTA GX71, LX70, MX71, SX70, YX7# 84-88
MARK 2 V, WG GX70, LX76, YX7# 88-97

CQT-31R 48068-29265 LOWER R PICNIC/AVENSIS VERSO ACM20, CLM20 01-09 4PCS
IPSUM ACM2# 01-09
NOAH ZRR70 08-09

ZRR80 09-14
NOAH/VOXY ZRR7# 07-14
NOAH/VOXY/ESQUIRE ZRR8#, ZWR80 14-

CQT-31L 48069-29265 LOWER L PICNIC/AVENSIS VERSO ACM20, CLM20 01-09 4PCS
IPSUM ACM2# 01-09
NOAH ZRR70 08-09

ZRR80 09-14
NOAH/VOXY ZRR7# 07-14
NOAH/VOXY/ESQUIRE ZRR8#, ZWR80 14-

NISSAN
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CQN-17R 54500-1HJ0A LOWER R ALMERA MLY MAKE N17L 12- 4PCS
ALMERA/SUNNY TH N17T 11-
LATIO N17T 12-
MARCH K13T 10-
MARCH INN MAKE N17T 10-
MARCH THI MAKE K13T 10-

CQN-17L 54501-1HJ0A LOWER L ALMERA MLY MAKE N17L 12- 4PCS
ALMERA/SUNNY TH N17T 11-
LATIO N17T 12-
MARCH K13T 10-
MARCH INN MAKE N17T 10-
MARCH THI MAKE K13T 10-

MITSUBISHI
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CQM-16R MB809231 REAR R LANCER/MIRAGE CA1A, CA2A, CA3A, CB1A, CB2A, CB3A, CB5AR, 91-96 4PCS
CB6A, CB7A, CB8A, CB8AR, CC3A, CD3A, 
CD7A, CD8A
CJ2A, CK2A, CK5AR, CK6A, CK8A, CK8AR, 95-00
CL2A, CM2A, CM8A

LANCER(BRAZIL) CA2A, CA4A, CB4A, CB5A 92-95
LANCER(CHINA) CK1A, CK2A, CK4A 96-00
LANCER(6B/MMTH) CK4A 99-01
MIRAGE(PUERTO RICO & CA2A, CA5A, CB2A, CB5A 92-96
GAUM) CJ5A, CK5A 96-02
MIRAGE(MMNA) CA2A, CA5A, CB2A, CB5A 92-96

CJ5A, CK5A 96-02
COLT/LANCER(EUR) CA2A, CA4A, CB1A, CB2A, CB4A, CB8A, CC4A, 91-96

CD4A
CJ1A, CJ2A, CJ4A, CK1A, CK2A, CK4A 95-03

COLT/LANCER(G.EXP) CA1A, CA2A, CA4A, CB1A, CB2A, CB4A, CB8A 91-96
CJ1A, CJ2A, CJ4A, CJ5A, CK1A, CK2A, CK4A, 95-03
CK5A

COLT/LANCER(BRAZIL) CJ1A, CJ4A, CK1A, CK4A 96-01



CONTROL ARM

MITSUBISHI
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CQM-16L MB809230 REAR L LANCER/MIRAGE CA1A, CA2A, CA3A, CB1A, CB2A, CB3A, CB5AR, 91-96 4PCS
CB6A, CB7A, CB8A, CB8AR, CC3A, CD3A, 
CD7A, CD8A
CJ2A, CK2A, CK5AR, CK6A, CK8A, CK8AR, 95-00
CL2A, CM2A, CM8A

LANCER(BRAZIL) CA2A, CA4A, CB4A, CB5A 92-95
LANCER(CHINA) CK1A, CK2A, CK4A 96-00
LANCER(6B/MMTH) CK4A 99-01
MIRAGE(PUERTO RICO & CA2A, CA5A, CB2A, CB5A 92-96
GAUM) CJ5A, CK5A 96-02
MIRAGE(MMNA) CA2A, CA5A, CB2A, CB5A 92-96

CJ5A, CK5A 96-02
COLT/LANCER(EUR) CA2A, CA4A, CB1A, CB2A, CB4A, CB8A, CC4A, 91-96

CD4A
CJ1A, CJ2A, CJ4A, CK1A, CK2A, CK4A 95-03

COLT/LANCER(G.EXP) CA1A, CA2A, CA4A, CB1A, CB2A, CB4A, CB8A 91-96
CJ1A, CJ2A, CJ4A, CJ5A, CK1A, CK2A, CK4A, 95-03
CK5A

COLT/LANCER(BRAZIL) CJ1A, CJ4A, CK1A, CK4A 96-01

HYUNDAI
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CQKH-104R 54501-2W000 LOWER R SANTAFE 12-15 4PCS
MAXCRUZ 13-

CQKH-104L 54500-2W000 LOWER L SANTAFE 12-15 4PCS
MAXCRUZ 13-



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CVT-72 48632-60030 UPPER ARM LAND CRUISER GRJ200, URZ20#, UZJ200, 07- 60PCS
VDJ200 (2PCS/BOX)

LAND CRUISER(CHINA) GRJ200, URJ202, UZJ200 07-
LEXUS LX460/570 URJ20# 07-

CVT-76 48815-44030 FRT STABILIZER BAR IPSUM ACM2# 01-09 60PCS
PICNIC/AVENSIS VERSO ACM20, CLM20 01-09 (2PCS/BOX)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CVN-19 54613-JG17C RR STABILIZER BAR DUALIS J10 07- 60PCS
J10E 07 (2PCS/BOX)

QASHQAI J10Z 08-
X-TRAIL T31 07-14

T31N 08-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CVM-27 MR319067 FRT LOWER ARM EK-SERIES H81W 01-06 60PCS
H82W 06-13 (2PCS/BOX)

MINICA H42A, H42V, H44A, H47A, 98-11
H47V

MINICAB, BRAVO U41T, U41TP, U41V, U42T, 90-99
U42TP, U42V, U43V, U44V

PAJERO IO H61W, H62W, H66W, 98-07
H67W, H71W, H72W,
H76W, H77W

PAJERO MINI H51A, H56A 94-98
H58A 98-12

PAJERO PININ/ H65W, H66W, H67W, 99-05
MONTERO IO H76W, H77W
TOPPO H82A 08-13
TOPPO BJ, TOPPO BJ - H41A, H42A, H42V, H43A, 98-03
- WIDE H46A, H47A, H47V, H48A
TOWNY(G.EXP) H42A 99-03

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CVMZ-3 B03E-34-156 FRT STABILIZER BAR 323 BG, BJ 91- 60PCS
EUNOS ESPRESSO EC 93- (2PCS/BOX)
FAMILIA BH, BJ 95-
IXION CP 99-
LASER BH 94-
MX-3 EC 91-
PREMACY CP 99-

CVMZ-4 B26R-34-156 FRT STABILIZER BAR 323 BJ 98- 60PCS
FAMILIA BJ 98- (2PCS/BOX)
MAZDA INSTRUCTION CAR BJ 02-
LASER LIDEA BJ 98-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CVS-4 46282-81A00 JIMNY JB23W 98- 60PCS
JB33W 97- (2PCS/BOX)
JB43W 00-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CVHO-44 52315-S2H-013 RR STABILIZER BAR HR-V 3D GH2 60PCS
HR-V 5D GH4 (2PCS/BOX)

CVHO-45 51306-S2H-003 FRT STABILIZER BAR HR-V 3D GH1, GH2 60PCS
(2PCS/BOX)

CVHO-46 52365-S5A-802 RR LOWER ARM CIVIC 5D ALMAS EU1, EU2, EU3, EU4 00- 60PCS
CIVIC FERIO ES1, ES2, ES3, ET2 00- (2PCS/BOX)
CIVIC GX EN2
CIVIC HYBRID ES9
CR-V RD6, RD7
ELEMENT YH2 03-11

BUSH

TOYOTA

NISSAN

MITSUBISHI

MAZDA

SUZUKI

HONDA



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLT-90 48820-17050 FRONT R/L MR2 ZZW30 99-05 25PCS
MR-S ZZW30 99-07 (50/2PCS)

CLT-93 48820-B0020 FRONT R/L RUSH F700 06- 10PCS
(20/2PCS)

CLT-94 48830-12070 FRONT R/L AURIS/HYBRID (UKP) ADE15#, NDE150, NRE150, ZRE15#, ZZE150, 07-13 25PCS
ZWE150 (50/2PCS)

AURIS NZE15#, ZRE15# 06-12
NZE18#, ZRE186 12

BLADE AZE15#, GRE156 06-12
COROLLA RUMION NZE151, ZRE15# 07-
MARK X ZIO ANA1#, GGA10 07-13
SAI AZK10 09-12
SCION TC AGT20 10-
ZELAS AGT20 10-
LEXUS CT200H ZWA10 10-
LEXUS HS250H ANF10 09-12

CLT-95 48830-42022 FRONT R/L HARRIER AVU65, ZSU6# 13- 25PCS
RAV4 ALA4#, ASA4#, ZSA44 12- (50/2PCS)
RAV4/VANGUARD ACA3#, GSA33 05-
LEXUS NX200T/300H AGZ1#, AYZ1#, ZGZ1# 14-

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLN-76 56261-1PA0A FRONT R/L NV F80 11- 20PCS
NV3500 WF80 12- (40/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLKH-63R 54840-4H250 FRONT R GRAND STAREX (2WD) 15- 10PCS
(20/2PCS)

CLKH-63L 54830-4H250 FRONT L GRAND STAREX (2WD) 15- 10PCS
(20/2PCS)

CLKH-64R 54840-4H400 FRONT R GRAND STAREX (4WD) 15- 10PCS
(20/2PCS)

CLKH-64L 54830-4H400 FRONT L GRAND STAREX (4WD) 15- 10PCS
(20/2PCS)

HYUNDAI

TOYOTA

STABILIZER LINK

NISSAN



TIE ROD END

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CET-210L 45047-65010 OUTER L MEGA CRUISER BXD20 96-01 20PCS
DYNA 200/TOYOACE G25 BU1##,BU2##,RZU100,RZU140,XZU130/140 95-00 (24/2PCS)
COASTER BB,BZB,HZB,XZB4#,HDB5# 93-00

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEKD-25R 95371539 FEMALE RHT SPARK M400 15- 36PCS
M14 X 1.5   (50/2PCS)

 
CEKD-25L 95371538 FEMALE RHT SPARK M400 15- 36PCS

M14 X 1.5   (50/2PCS)
 

TOYOTA

GM KOREA



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRT-123 SU003-00832 R/L SCION FR-S ZN6 12- 32PCS
GT86/86 ZN6 12-

CRT-124 45503-39195 R/L DYNA XZU30#, 320, 330, 34# 99-02 32PCS
DYNA/TOYOACE BU3##, BZU3##, RZU3##, XZU3## 99-07

BZU3##, TRU3##, 500, XZU3##, 5## 06-11
BZU600, TRC600, TRU600, XZC6##, XZU6## 11-
XZC710, XZU7##
BU4##, BZU410, XZU3##, 4## 99-11

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRF-15 YL8Z-3280-EA R/L FORD ESCAPE 01-07 20PCS
EC01-32-240 FORD MONDEO BNP, GBP 93-96

MERCURY MARINER 05-07
MAZDA TRIBUTE EP 01-06

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRVW-2 2E0 713 491 R/L VW CRAFTER 2EA, 2EB, 2ED, 2EE, 2EH, 06- 20PCS

2EK, 2EX, 2EY, 2FC, 2FF

2FG, 2FL, 2FM, 2FZ

MERCEDES SPRINTER 906 06-

TOYOTA

FORD

RACK END

VOLKSWAGEN



* ADDITIONAL APPLICATION IS THE NEW OEM NUMBERS WHICH CAN BE COMMON USED WITH CURRENT CTR PRODUCTS

WITH GOOD PERFORMANCES.

THE OEM NUMBERS AND OTHER APPLICATIONS WITH MARK ☆ ARE NEW APPLICATIONS AND WERE NOT INCLUDED

IN LAST VERSIONS OF CTR PARTS CATALOGUES, AND THOSE ARE NEWLY ADDED INTO CTR APPLICATIONS.

BALL JOINT

TOYOTA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBT-82 43330-39775 ◈ LOWER R AVALON GSX30 05-12 20PCS
43330-09330 AVX40, GSX40 12-
43330-09590 CAMRY ACV4#, GSV40 06-11
43330-09580 ASV50L-S***** 11-
43330-09810  CAMRY (JPP/NAP) ACV40, ASV40, GSV40 06-11
43330-39845 CAMRY (CHINA) ACV4#, AHV41 06-

CAMRY HV (JPP/NAP) AHV40 06-11
CAMRY/HYBRID ASV50L-C*****, AVV50, GSV50 11-

ACV51, ASV5#, AVV50, GSV50 11
CAMRY/HYBRID (ASIA) ACV4#, AHV40, GSV40 06-12

ACV51, ASV5#, AVV50 11-12
CAMRY/AURION/HV (ARL) ACV40, AHV40, GSV40 06-11

ASV50, AVV50, GSV50 11
LEXUS ES240/350 ACV40, GSV40 06-12
LEXUS ES350 GSV40 06-12
LEXUS ES250/350/300H ASV60, AVV60, GSV60 11-12
LEXUS ES350/300H AVV60, GSV60 12
DAIHATSU ALTIS ACV40, 45 06-10

ACV50 12-
CBT-83 43340-39545 ◈ LOWER L AVALON GSX30 05-12 20PCS

43340-09040 AVX40, GSX40 12-
43340-09110 CAMRY ACV4#, GSV40 06-11
43340-09100 ASV50L-S***** 11-
43340-09170  CAMRY (JPP/NAP) ACV40, ASV40, GSV40 06-11
43340-39605 CAMRY (CHINA) ACV4#, AHV41 06-

CAMRY HV (JPP/NAP) AHV40 06-11
CAMRY/HYBRID ASV50L-C*****, AVV50, GSV50 11-

ACV51, ASV5#, AVV50, GSV50 11
CAMRY/HYBRID (ASIA) ACV4#, AHV40, GSV40 06-12

ACV51, ASV5#, AVV50 11-12
CAMRY/AURION/HV (ARL) ACV40, AHV40, GSV40 06-11

ASV50, AVV50, GSV50 11
LEXUS ES240/350 ACV40, GSV40 06-12
LEXUS ES350 GSV40 06-12
LEXUS ES250/350/300H ASV60, AVV60, GSV60 11-12
LEXUS ES350/300H AVV60, GSV60 12
DAIHATSU ALTIS ACV40, 45 06-10

ACV50 12-

MITSUBISHI
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBM-34 MR508130 REAR UPPER PAJERO  V63W, V65W, V68W, V73W, V75W, V77W, V78W 99-06 16PCS
4110A073  V93W, V97W, V98W 06-

PAJERO (CHINA) V73W 00-05
PAJERO (BRAZIL) V63W, V65W, V67W, V73W, V75W, 00-06

V76W, V77W, V78W
V97W, V98W 06-

PAJERO (KOREA) V98W 08-
MONTERO(MMNA) V75W, V77W 00-06
MONTERO(P.RICO&GAUM) V75W, V77W 00-06
MONTERO(MEXICO) V77W 02-06

V97W 07-
PAJERO/MONTERO(EUR) V64W, V65W, V68W, V73W, V74W, V75W, V78W 00-06

V93W, V97W, V98V, V98W 06-13
PAJERO/MONTERO(G.EXP) V63W, V64W, V65W, V66W, V67W, V68W, V73W, 00-06

V74W, V75W, V76W, V77W, V78W
V93W, V95W, V96W, V97W, V98W 06-
FOR MR508132/MR508131

ADDITIONAL APPLICATION



BALL JOINT

MITSUBISHI
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBKK-28 54530-2T010 ◈ LOWER K5 10- 20PCS
54530-2P100 K7 (FR SUSPENSION TYPE) - CADENZA 10-12
54530-B2100 SORENTO 12.06-14

SOUL 13-
SOUL EV 14-

TIE ROD END

NISSAN
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEN-110 48640-EA025 ◈ OUTER R FRONTIER SE, ROAD, LE, XE 05- 12PCS
48610-EA025 NAVARA D40M 05- (24/2PCS)
48640-EA01J PATHFINDER R51M 05-

OUTER L PATHFINDER XE, SE, LE, SE OFF-ROAD 05-12
M16 X 1.5 XTERRA 05-

CEN-111 48520-EA025 OUTER L FRONTIER SE, ROAD, LE, XE 05- 12PCS
48520-EA01J NAVARA D40M 05- (24/2PCS)

PATHFINDER R51M 05-
OUTER R PATHFINDER XE, SE, LE, SE OFF-ROAD
M16 X 1.5 XTERRA

CEN-115 48520-3U025 ◈ OUTER R TIIDA C11 04-12 20PCS
D8520-EW00A M12 X 1.25 VERSA S, SL 07-11 (34/2PCS)
48527-1U61A GRAND LIVINA L10N 07-13

MICRA K12E 02-10
MICRA C+C CK12E 05-
NOTE UK MAKE E11E 06-13

CEN-116 48640-3U025 ◈ OUTER L TIIDA C11 04-12 20PCS
D8640-EW00A M12 X 1.25 VERSA 07-11 (34/2PCS)
48647-1U61A GRAND LIVINA L10N 07-13

MICRA K12E 02-10
MICRA C+C CK12E 05-
NOTE UK MAKE E11E 06-13

STABILIZER LINK

TOYOTA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLT-1 48820-20010 FRONT COROLLA AE9# 87-91 40PCS
48830-30060 M10 X 1.25 CELICA 86-93 (80/2PCS)

ARISTO JZS147, UZS143 91-97
CROWN/CROWN MAJESTA GS151, JZS15#, LS151, UZS15# 95-01
LEXUS GS300 JZS147 93-97

KIA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLKK-20 55530-17000 REAR LAVITA  (MATRIX)  01-06 25PCS
55530-17010 M10 X 1.25 (50/2PCS)



* INFORMATION WAS CHANGED AS FOLLOWS

STABILIZER LINK

KIA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQKK-59R 54501-2P000 FRONT LOWER-R SORENTO R 09-14 4PCS

CQKK-59L 54500-2P000 FRONT LOWER-L SORENTO R 09-14 4PCS

HYUNDAI
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CQKK-59R 54501-2P000 FRONT LOWER-R SORENTO R 09-12 4PCS

CQKK-59L 54500-2P000 FRONT LOWER-L SORENTO R 09-12 4PCS

 CORRECTION NOTE
INFORMATION


